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1. RO=FAtbz 45° LT O=fATEYE,

(1)cos130° (2)sin160° (8)cos165° (4)sin100° (5)tan70°

2. ZAoFR (V—FEFIP. 144) 2RO =ADfEERD X,

(1) )sin145° (2) cos168° (3)tan159°
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AL THRYE,

% 45° LR =

RD =

(1)cos125°

1.

(8)cos145° (4)sin105° (5)tan65°

(2)sin155°

b (V—RE5 1 P.144) ZH W TR O A D IERE, 435%, EEOfEZ R D I,

2.

(3)136°

(2 178°

(1))112°

WENE RN £ ) w

HeMHeRro R +wimih 2imp °

 grEgw sk rropre e @

WE PR @
Err L CENP Y AD e ©
BECEK@LENoUND gy @

L N O S PRSNGSR e

B -8 W oW

o

(M=ol & v )

BEoKeErD

Oy v ey g

UM TwiDUER

B ( EEFwiEmeEm oM

= I W A ML) e e

MECHSENI K=

._.ﬂ.u

t

=

f=

t=




=ER8Y FIvI/TAL @BEF 10/4

1. RE-HAD=AL [F2R]
1

(1) -sin40° (2) sin20° (3)-cos15® (4)cos10° (5)
tan 20°

2. 90° +0m=Aak [(1)4=(02)B)&3A]
(1) sin145°=co0s55=0.5736 (2) c0s168° =—sin78°=-0.9781

(3) tan159° =tan(180°—21°) = —tan 21°=-0.3839
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() AC=kcos@ (2)CD=ksinfcosd@ = Bk N 3R nl’ i)
(3) BD=Kksin*@ : { e E 3 Z |7 ¥
- = a y &
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1. RAE-#HAD=AL
1
(1) -sin35° (2) sin25° (3)-cos35° (4)cos15° 6))
tan 25°

2. 90° +0D=ftk

(1) sin112°=sin(180°—68°) =sin68°=0.9272
€0s112° = c0s(180° —68°) = —cos 68° = —0.3746
tan112° = tan(180°—68°) = —tan 68° = —2.4751

(2) sinl178°=sin(180°—2°) =sin2°=0.0349
€0s178° = c0s(180° —2°) = —cos 2° = —0.9994
tan178° = tan(180° —2°) = —tan 2° =-0.0349

(3) sin136° =sin(180°—44°) =sin44° =0.6947
€0s136° = cos(180° —44°) = —cos 44° =—0.7193
tan136° = tan(180° — 44°) = —tan 44° = —0.9657
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Ly pinlH8° = gin (#0638 = gin 38" = 0.8734
il 90+55) < aasS . 0.8

(10 /48" s ox ([Pt 127) + - o [2°> - 0.97%/
con (9078 = —pn 8 - -0 778

) Toms84 = Tan (/S0-2]") - ~Tan2{" - -0.3837
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(1) AABCIZEBWT
AC=ABcos#
=kcos @
2) AADCIZIBBWT A\o -
CD=ACsin@ Rt T
=(kcos @ )sin § = ksin 6 cos @
3) (&1 AABCizHBWT
BC=ABsin 6§ =ksin @
=l o ZBCD=90°— ZACD
=ZCAD=#8
£-T, ABCD {ZHBW T
BD = BCsin @ =(ksin 0 )sin 0 = ksin?@
(f#2) 4BCD=6 %, ABCDiZHWT
BD=CDtan6 =(ksinf cos@ )tan @
=ksinfcosftanl
(fi#3) AADCIZEBNT
AD=ACcos0 =(kcos 8 )cos O = kcos? @
&a'T BD=AB—AD =Fk— kcos?0
=k1—cos?8)




